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Questions
Instructions

Arrange the four sentences in their proper order so that they make a logically coherent paragraph. 

Question 1

1. The Saheli Programme, run by the US Cross-Cultural Solutions, is offering a three week tour of India that involves a lot more than
frenzied sightseeing.
2. Participants interested in women's issues will learn about arranged marriages, dowry and infanticide.
3. Holiday packages include all sorts of topics, but female infanticide must be the first for tourism.
4. Interspersed with these talks and meetings are visits to cities like New Delhi and Agra, home to the Taj Mahal.

Answer:1324

 Video Solution

Explanation:
1 should start the para as it introduces the Saheli Programme. It also states that an offer being made by the programme. 3 further takes
the idea forward and gives details about it. 2 and 4 form a pair as 4 refers to some talks, the topic for which is mentioned in 2. Thus, the
correct order is 1324.

Instructions
For the following questions answer them individually

Question 2

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out.

1. Neuroscientists have just begun studying exercise's impact within brain cells — on the genes themselves. 
2. Even there, in the roots of our biology, they' ve found signs of the body's influence on the mind.
3. It turns out that moving our muscles produces proteins that travel through the bloodstream and into the brain, where they play
pivotal roles in the mechanisms of our highest thought processes.
4. In today's technology-driven, plasma-screened-in world, it's easy to forget that we are born movers-animals, in fact — because we' ve
engineered movement right out of our lives.
5. It's only in the past few years that neuroscientists have begun to describe these factors and how they work, and each new discovery
adds awe-inspiring depth to the picture.

Answer:4

 Video Solution

Explanation:
After reading all the sentences, we know that the passage is about the study of the effect of exercise on the mind by the neuroscientists.
Statement 1 is the opening sentence as it introduces the main idea and suggests that neuroscientists have started studying the effect of
exercise on the mind. Statement 2 discusses the findings of the study mentioned in statement 1. Statement 3 further elaborates the
finding and explains the reasons behind the effect of exercise on brain cells. Statement 5 is a conclusion sentence based on the study
mentioned in the three sentences mentioned earlier. Thus, 1235  forms a meaningful paragraph.
Statement 4 focuses on our ignorance of movements due to the widespread use of technology. Other four sentences are about the
relationship between exercise and brain cells. However, statement 4 is about a different topic. Therefore, statement 4 is an odd sentence
which does not fit in the paragraph.
Hence, 4 is the correct answer.
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Question 3

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the ODD ONE out. Choose its number as your answer and key it in.

1) Translators are like bumblebees.
2) Though long since scientifically disproved, this factoid is still routinely trotted out.
3) Similar pronouncements about the impossibility of translation have dogged practitioners since Leonardo Bruni’s De interpretatione
recta, published in 1424.
4) Bees, unaware of these deliberations, have continued to flit from flower to flower, and translators continue to translate.
5) In 1934, the French entomologist August Magnan pronounced the flight of the bumblebee to be aerodynamically impossible.

Answer:2

 Video Solution

Explanation:
On reading the sentences, we can infer that the author draws an analogy between translators and bumblebees in the paragraph.

1 should be the opening sentence since it introduces the fact that the paragraph is going to be about the similarities of translators and
bumblebees. After sentence 1, the author should have explained how they are analogous. 

5 states that the French entomologist August Magnan pronounced the flight of bumblebees to be aerodynamically impossible. Sentence
3 talks about similar statements made about translations. Sentence 4 should be the last sentence since it concludes by saying that both
translators and bees have continued their work unaware of these deliberations. Sentences 1534 can be put together into a coherent
paragraph. 

Sentence 2 does not add any valuable information to the topic of discussion. The author does not use the fact that the factoid
(impossibility of the flight of the bumblebee) has been disproved to support his argument. Sentence 2 should be the one out of context
and hence, 2 is the correct answer. 

Take 3 Free CAT Mocks (With Solutions) 
Question 4

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out.

1) Displacement in Bengal is thus not very significant in view of its magnitude.
2) A factor of displacement in Bengal is the shifting course of the Ganges leading to erosion of river banks.
3) The nature of displacement in Bengal makes it an interesting case study.
4) Since displacement due to erosion is well spread over a long period of time, it remains invisible.
5) Rapid displacement would have helped sensitize the public to its human costs.

Answer:5

 Video Solution

Explanation:
On reading the sentences, we can infer that the paragraph revolves around the displacement of people in Bengal due to erosion. 3 should
be the opening sentence since it introduces the topic of discussion - displacement in Bengal. 3 should be followed by sentence 2 since it
elaborates that the displacement is due to the shifting of the course of the Ganges and the erosion. We have to decide the pair between 5,
4, and 1. 

Sentence 4 is definitely a part of the paragraph since it fits well with both the sentences. Also, it states an important detail - the
displacement is spread out over a period of time and hence, remains invisible. Since the displacement is not rapid, its magnitude is not
significant. Sentences 4 and 1 form a pair and hence, sentence 5 is the one out of context.
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Question 5

The four sentences (labelled 1, 2, 3, and 4) given in this question, when properly sequenced, form a coherent paragraph. Decide on the
proper order for the sentences and key in this sequence of four numbers as your answer.
1.The eventual diagnosis was skin cancer and after treatment all seemed well.
2. The viola player didn’t know what it was; nor did her GP.
3. Then a routine scan showed it had come back and spread to her lungs.
4. It started with a lump on Cathy Perkins’ index finger.

Answer:4213

 Video Solution

Explanation:
Sentence 4 should be the opening sentence since it sets the scene and introduces the person suffering from cancer. 
Sentence 2 states that the viola player and her physician did not know what it was. 'It' refers to the lump on the finger. 
Sentence 1 should follow sentence 2 since it states what the eventual diagnosis was. The GP did not know what the lump was and later it
was identified to be skin cancer. Sentence 1 states that all seemed well after the treatment, implying it was not. 
Sentence 3 should be the last sentence since it states that the cancer had spread to her lungs. 

Sentences 4213 form a coherent paragraph and hence, 4213 is the right answer.

Question 6

The four sentences (labelled 1, 2, 3, and 4) given in this question, when properly sequenced, form a coherent paragraph. Decide on the
proper order for the sentences and key in this sequence of four numbers as your answer.

1) The woodland’s canopy receives most of the sunlight that falls on the trees.
2) Swifts do not confine themselves to woodlands, but hunt wherever there are insects in the air.
3) With their streamlined bodies, swifts are agile flyers, ideally adapted to twisting and turning through the air as they chase flying
insects - the creatures that form their staple diet.
4) Hundreds of thousands of insects fly in the sunshine up above the canopy, some falling prey to swifts and swallows

Answer:1432

 Video Solution

Explanation:
1 should be the opening sentence since it sets the context. Sentence 1 states that the woodland's canopy receives most of the sunshine
that falls on the trees. Sentence 4 continues sentence 1 by stating that thousands of insects fly above the canopy in the sunlight. The
insects fall prey to the swifts and swallows. 

We have to decide whether the order of the remaining 2 sentences is 32 or 23. 
Sentence 3 states that swifts are agile flyers, adapted to chasing flying insects. Sentence 3 states that flying insects form the staple diet
of the swifts. Sentence 2 states that swifts do not confine themselves to woodlands and hunt wherever they can find insects. Therefore,
sentence 3 should precede sentence 2 (We cannot introduce that insects form the staple diet after stating that swifts hunt wherever they
can find flying insects).

Sentences 1432 form a coherent paragraph.
Therefore, 1432 is the correct answer.

CAT Previous Papers PDF

Downloaded from cracku.in

.

https://cracku.in/32-the-four-sentences-labelled-1-2-3-and-4-given-in-t-x-cat-2018-slot-1?utm_source=pdf&utm_medium=video&utm_campaign=video_solution
https://cracku.in/34-the-four-sentences-labelled-1-2-3-and-4-given-in-t-x-cat-2018-slot-1?utm_source=pdf&utm_medium=video&utm_campaign=video_solution
https://cracku.in/cat-previous-papers
https://cracku.in


Question 7

The four sentences (labelled 1,2,3,4) given in this question, when properly sequenced, form a coherent paragraph. Each sentence is
labelled with a number. Decide on the proper sequence of order of the sentences and key in this sequence of four numbers as your
answer:

1. In the era of smart world, however, ‘Universal Basic Income’ is an ineffective instrument which cannot address the potential
breakdown of the social contract when large swathes of the population would effectively be unemployed.
2. In the era of industrial revolution, the abolition of child labour, poor laws and the growth of trade unions helped families cope with
the pressures of mechanised work.
3. Growing inequality could be matched by a creeping authoritarianism that is bolstered by technology that is increasingly able to peer
into the deepest vestiges of our lives.
4. New institutions emerge which recognise ways in which workers could contribute to and benefit by economic growth when, rather
than if, their jobs are automated.

Answer:4213

 Video Solution

Explanation:
4 should be the opening sentence since it states that new institutions recognize ways in which workers can contribute to the economy.
The other 3 sentences provide examples and elaborate on the same and hence, sentence 4, which introduces the topic of discussion,
should be the opening sentence. 

2 talks about the period of industrial revolution. 1 talks about the smart world. Chronologically, 1 should follow 2. Moreover, 2 talks about
an example that conformed to the point mentioned in sentence 4. On the other hand, 1 talks about an inadequacy. Therefore, 2 should
have preceded 1. 3 should be the last sentence of the paragraph.

Sentences 4213 form a coherent paragraph and hence, 4213 is the correct answer. 

Question 8

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out.

1. Much has been recently discovered about the development of songs in birds.

2. Some species are restricted to a single song learned by all individuals, others have a range of songs.

3. The most important auditory stimuli for the birds are the sounds of other birds.

4. For all bird species there is a prescribed path to development of the final song,

5. A bird begins with the subsong, passes through plastic song, until it achieves the species song.

Answer:3

 Video Solution

Explanation:
On reading the sentences, we can infer that the paragraph talks about the development of songs in birds. 

1 should be the opening sentence since it introduces the topic of discussion, the development of songs in birds. 1 provides a proper
introduction to the paragraph by stating that much has been discovered about the development of songs in birds. 

4 should be the sentence that follows 1 since it states that the development of songs in birds follow a template process. 
5 explains the mechanism in which the song is developed. Therefore, sentence 5 should follow sentence 4. 
2 should be the last sentence since it states that some species restrict themselves to one song while other species have more than one
song. 

Sentences 1452 form a coherent paragraph. Sentence 3 talks about the sounds of birds while the other sentences are about how a
species develops a song. Therefore, sentence 3 is the one out of context and hence, 3 is the right answer. 
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Question 9

The four sentences (labelled 1, 2, 3, and 4) given in this question, when properly sequenced, form a coherent paragraph. Decide on the
proper order for the sentences and key in this sequence of four numbers as your answer.

1. It was his taxpayers who had to shell out as much as $1.6bn over 10 years to employees of failed companies.

2. Companies in many countries routinely engage in such activities which means that the employees are left with unpaid entitlements

3. Deliberate and systematic liquidation of a company to avoid liabilities and then restarting the business is called phoenixing.

4. The Australian Minister for Revenue and Services discovered in an audit that phoenixing had cost the Australian economy between
$2.9bn and $5.1bn last year.

Answer:3241

 Video Solution

Explanation:
3 should be the opening sentence since it introduces the concept of phoenixing. Sentence 2 logically continues sentence 1 by stating that
companies in many countries engage in such activities (Phoenixing). Sentence 2 should be followed by sentence 4 since it moves to a
specific instance (Australian minister's discovery) from general statements. Sentence 1 should follow sentence 4 since it states that it
was 'his' taxpayers (Australian Minister's taxpayers or Australian citizens) who had to foot the bill. 

Sentences 3241 form a coherent paragraph. Therefore, 3241 is the correct answer. 

Free CAT Exam Preparation App
Question 10

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out. Choose its number as your answer and key the number in:

1. Our smartphones can now track our diets, our biological cycles, even our digestive systems and sleep-patterns.

2. Researchers have even coined a new term, “orthosomnia”, to describe the insomnia brought on by paying too much attention to
smartphones and sleep-tracking apps.

3. Sleep, nature’s soft nurse, is a blissful, untroubled state all too easily disturbed by earthly worries or a guilty conscience.

4. The existence of a market for such apps is unsurprising: shift work, a long-hours culture and blue light from screens have conspired
to rob many of us of sufficient rest.

5. A new threat to a good night’s rest has emerged - smart-phones, with sleep-tracking apps.

Answer:3

 Video Solution

Explanation:
The use of the word "such apps" in 4 indicates that 4 must be preceded by a line that mentions a type of app. We find this in 5 and 2. So
the pairs could be 5-4 or 2-4. If we see the sentences 5 and 1 they introduce the topic under discussion and provide context for the details
provided in 2 and 4. Hence, 1 and 5 should come at the start of the paragraph and 2-4 should be the end of the paragraph. Between 5 and
1, 5 provides a better opening line as it introduces the main topic of discussion. Hence, the order of the paragraph should be 5-1-2-4.

Sentence 3 which talks of "guilty conscience" is out of context with the rest of the paragraph.
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Question 11

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out.

1. As India looks to increase the number of cities, our urban planning must factor in potential natural disasters and work out
contingencies in advance.
2. Authorities must revise data and upgrade infrastructure and mitigation plans even if their local area hasn’t been visited by a natural
calamity yet.
3. Extreme temperatures, droughts, and forest fires have more than doubled since 1980.
4. There is no denying the fact that our baseline normal weather is changing.
5. It is no longer a question of whether we will be hit by nature's fury but rather when.

Answer:3

 Video Solution

Explanation:
If we read all the sentences together, we see that the author is arguing for India preparing itself in advance for future natural disasters.
Sentence 4, which introduces the broader context makes for a good opening line. Sentences 1 and 2 together make the main point that
the author is trying make through the paragraph - that India should prepare itself for future natural disasters. Sentence 5 emphasizes the
main point by adding that natural disasters will occur in the future and thus makes for a good concluding line. 

Sentence 3, that talks about extreme temperatures does not lead off to any of the other sentences nor does it add to any of the other
sentences. Hence, it is the odd one.

Additional Explanation:

1-2 is a block, both are talking about things that authorities should do 45 are rhetorical opinions of the author on the weather. 3 is a fact.
We use facts to draw reasonable conclusions. This standalone fact cannot be used to draw any conclusion. The style of the author's
writing in 4 and 5 are more opinionated than factual. So 3 is a misfit. Moreover, we cannot make a connection between 1-4, 1 says we
need contingencies for natural disaster(suggestive) whereas, 4 says whether is changing(rhetorical). 

Question 12

The four sentences (labelled 1,2,3,4) given in this question, when properly sequenced, form a coherent paragraph. Each sentence is
labelled with a number. Decide on the proper sequence of order of the sentences and key in this sequence of four numbers as your
answer:

1. They would rather do virtuous side projects assiduously as long as these would not compel them into doing their day jobs more
honourably or reduce the profit margins.
2. They would fund a million of the buzzwordy programs rather than fundamentally question the rules of their game or alter their own
behavior to reduce the harm of the existing distorted, inefficient and unfair rules.
3. Like the dieter who would rather do anything to lose weight than actually eat less, the business elite would save the world through
social-impact-investing and philanthro-capitalism.
4. Doing the right thing — and moving away from their win-win mentality — would involve real sacrifice; instead, it’s easier to focus on
their pet projects and initiatives.

Answer:3241

 Video Solution

Explanation:
After reading all the sentences, we know that the paragraph is about the businessmen who, instead of tackling the root causes, focus on
superficial solutions. Statement 3 is the opening sentence as it introduces the topic by comparing businessmen with a dieter who is
ready to do everything except eating less. Statement 2 mentions the examples of some of the specious solutions mentioned in statement
3. Statement 4 provides the reason why businessmen are hesitant to execute the genuine solutions which will bring real change.
Statement 4 mentions the alternative taken by businessmen. The word 'rather' in statement 1 connects it with statement 4. Thus, the
correct order is 3 - 2 - 4 - 1.
Hence, 3241 is the correct answer.
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The four sentences (labelled 1, 2, 3, 4) given below, when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences and key in the sequence of the four numbers as your answer.

Question 13

1. To the uninitiated listener, atonal music can sound like chaotic, random noise.
2. Atonality is a condition of music in which the constructs of the music do not ‘live’ within the confines of a particular key signature,
scale, or mode.
3. After you realize the amount of knowledge, skill, and technical expertise required to compose or perform it, your tune may change,
so to speak.
4. However, atonality is one of the most important movements in 20th century music.

Answer:2143

 Video Solution

Explanation:
After reading all the sentences , it can be inferred that though atonal music can sometimes sound random and chaotic, there is a lot of
knowledge and skill that is required to perform atonal music. 

Sentence 2 talks about what exactly atonal music is. Hence, this sentence must be the first sentence of the paragraph. Sentence 1 talks
about the misconceptions of atonal music that the uninitiated make. This sentence must be the second sentence of the passage.
Sentence 4, now clears the misconception about atonality and states that it is one of the most important movements in music. Sentence
3 gives the reason why atonality is music is so difficult to attain and says that the untrained listener would change his mind when he
understands the amount of knowledge and skill required to produce atonality. Therefore, sentences 4 and 3 form a block. 

Therefore the correct sequence of sentences is 2-1-4-3.

Question 14

1. Living things—animals and plants—typically exhibit correlational structure.
2. Adaptive behaviour depends on cognitive economy, treating objects as equivalent.
3. The information we receive from our senses, from the world, typically has structure and order, and is not arbitrary.
4. To categorize an object means to consider it equivalent to other things in that category, and different—along some salient dimension
—from things that are not.

Answer:2431

 Video Solution

Explanation:
After reading all the sentences, it can be inferred that the passage talks about how comparisons are made between objects in different
aspects, and how such comparisons are important facets of cognitive ability and consequently our adaptive behaviour.

Sentence 2 introduces how adaptive behavior depends on cognitive economy. Hence, it is the first sentence of the paragraph.

Sentence 4 elaborates on how different objects are compared. This sentence logically follows sentence 2. Sentence 3 shows how such
comparisons have structure and order, and how they are not arbitary. Hence, sentence 3 follows sentence 4. Sentence 1 is completes the
passage in a way that elucidates how animals and plats are equivalent to each other by exhibiting correlatoinal structure.

The correct sequence is 2-4-3-1.

Question 15

1. Conceptualisations of ‘women’s time’ as contrary to clock-time and clock-time as synonymous with economic rationalism are two of
the deleterious results of this representation.
2. While dichotomies of ‘men’s time’, ‘women’s time’, clock-time, and caring time can be analytically useful, this article argues that
everyday caring practices incorporate a multiplicity of times; and both men and women can engage in these multiple-times
3. When the everyday practices of working sole fathers and working sole mothers are carefully examined to explore conceptualisations
of gendered time, it is found that caring time is often more focused on the clock than generally theorised.
4. Clock-time has been consistently represented in feminist literature as a masculine artefact representative of a ‘time is money’
perspective.

Answer:4132

 Video Solution
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Explanation:
After reading all the lines it can be seen that the paragraph talks about the deleterious results of introducing the concept of women's
time, and how the everyday practices of both men and women incorporate a multiplicity of times.

Sentence 4 introduces the concept of clock time which has been represented in feminist literature and it is the introductory sentence of
the paragraph. The passage goes on to say that the concept of 'women's time' as is deleterious.Hence, sentence 1 follows sentence 4.
Sentence 3 explains how the concept of clock time actually works out for working sole fathers and working sole mothers. It follows
sentence 1. Sentence 2 gives a summary of the paragraph which states that the everyday caring practices involve a multiplicity of times
hence it would be the last sentence of the paragraph.

The correct order of sequence is 4-1-3-2.

Top-500 Free CAT Questions (With Solutions)
Instructions
For the following questions answer them individually

Question 16

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out. Choose its number as your answer and key it in.
1. Ocean plastic is problematic for a number of reasons, but primarily because marine animals eat it.
2. The largest numerical proportion of ocean plastic falls in small size fractions.
3. Aside from clogging up the digestive tracts of marine life, plastic also tends to adsorb pollutants from the water column.
4. Plastic in the oceans is arguably one of the most important and pervasive environmental problems today.
5. Eating plastic has a number of negative consequences such as the retention of plastic particles in the gut for longer periods than
normal food particles.

Answer:2

 Video Solution

Explanation:
After reading all the sentences it can be inferred that the passage talks about the impact of ocean plastic on marine organisms.

Sentence 4 introduces the important and pervasive environmental problem of having plastic in the oceans.Hence it is the first sentence
of the passage. Sentence 1 gives the reason behind why ocean plastic is problematic, elucidating that marine animals eat it. Hence it
should follow sentence 4.  Sentence 5 gives the consequences of marine animals eating ocean plastic. Sentence 3 further elaborates
sentence 5 and follows it.

Hence the correct order of sentences is 4-1-5-3. Sentence 2 does not fit in with the rest of the passage and is the correct option.

Question 17

The four sentences (labelled 1, 2, 3, 4) given below, when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences and key in the sequence of the four numbers as your answer.
1. Such a belief in the harmony of nature requires a purpose presumably imposed by the goodness and wisdom of a deity.
2. These parts, all fit together into an integrated, well-ordered system that was created by design.
3. Historically, the notion of a balance of nature is part observational, part metaphysical, and not scientific in any way.
4. It is an example of an ancient belief system called teleology, the notion that what we call nature has a predetermined destiny
associated with its component parts.

Answer:3421

 Video Solution

Explanation:
After reading all the sentences it can be reasonably inferred that the passage talks about the ancient belief system called telelogy which
describes how nature has a predetermined destiny associated with its component parts, and how these parts fit together into an ordered
system.

Sentence 3 introduces the idea of the notion of balance of nature. Hence, this would serve as the introductory sentence. Sentence 4 gives
an example of a system that tries to explain the balance in nature called telelogy. Hence, this sentence follows sentence 3. Sentence, 2
follows sentence 4 as it furthers the idea given in sentence 4. It explains about how the component parts explained in sentence 4 fit
together. Sentence 1 would serve as the concluding sentence as it gives the necessary condition required to have a belief that has been
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explained in sentences 4 and 2.

Hence, the correct ordering of the sentences is 3-4-2-1.

Question 18

Five sentences related to a topic are given below in a jumbled order. Four of them form a coherent and unified paragraph. Identify the
odd sentence that does not go with the four. Key in the number of the option that you choose.
1. Socrates told us that ‘the unexamined life is not worth living’ and that to ‘know thyself’ is the path to true wisdom
2. It suggests that you should adopt an ancient rhetorical method favored by the likes of Julius Caesar and known as ‘illeism’ - or
speaking about yourself in the third person.
3. Research has shown that people who are prone to rumination also often suffer from impaired decision making under pressure and
are at a substantially increased risk of depression.
4. Simple rumination - the process of churning your concerns around in your head - is not the way to achieve self-realization.
5. The idea is that this small change in perspective can clear your emotional fog, allowing you to see past your biases.

Answer:1

 Video Solution

Explanation:
After reading all the sentences, it can be reasonably inferred that the passage talks about how rumination is not the way to achieve-self
realization, but another method favored by Caesar, 'illeism' would help a person see past his biases.

Sentence 4 introduces the idea of rumination. Hence this sentence would serve as the introductory sentence. Sentence 3 follows
sentence 4 because it indicates the results of the research done on rumination. Sentence 2 would be the next logical progression, since it
puts forth an alternative to rumination, known as illeism. Sentence 2 and sentence 5 would form a block as sentence 5 explains the
consequences of adopting the ancient method of illeism, mentioned in sentence 2. 

4-3-2-5 would be the correct ordering of the sentences. Sentence 1 does not fit in with the passage and hence, it is the correct answer.

Free CAT Study Material
Question 19

Five sentences related to a topic are given below in a jumbled order. Four of them form a coherent and unified paragraph. Identify the
odd sentence that does not go with the four. Key in the number of the option that you choose.
1. ‘Stat’ signaled something measurable, while ‘matic’ advert ised free labour; but ‘tron’, above all, indicated control.
2. It was a totem of high modernism, the intellectual and cultural mode that decreed no process or phenomenon was too complex to be
grasped, managed and optimized.
3. Like the heraldic shields of ancient knights, these morphemes were painted onto the names of scientific technologies to proclaim
one’s history and achievements to friends and enemies alike.
4. The historian Robert Proctor at Stanford University calls the suffix ‘-tron’, along with ‘-matic’ and ‘-stat’, embodied symbols.
5. To gain the suffix was to acquire a proud and optimistic emblem of the electronic and atomic age.

Answer:2

 Video Solution

Explanation:
Option 4 and option 5 are related as both statement start with a suffix.
While option 3 is a continuation of the idea in option 3

Option 5 says that the suffix signifies pride, while option 3 elaborates on this and explains how it is displayed as pride to friends and
families alike. Hence 53 is a logical block.

Among all the statements, 4 is the only one which doesn't have a pronoun or a tone indicating the presence of a preceding statement.

While 4 opens the statement, it must be succeeded by 1 as the terms cannot be explained at the end. 

The logical coherence of this para jumble is 4(Introduction of terms)-1(Explanation of terms)-5(Consequence of terms(Pride))-
3(Elaboration of consequence)

Statement 2 speaks about modernism and that every phenomenon can be easily grasped. It is unrelated to the context of the passage
and a misfit.

Hence, option 2 is the odd one out
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Question 20

The four sentences (labelled 1, 2, 3, 4) given below, when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences and key in the sequence of the four numbers as your answer.
1. People with dyslexia have difficulty with print-reading, and people with autism spectrum disorder have difficulty with mind-reading.
2. An example of a lost cognitive instinct is mind-reading: our capacity to think of ourselves and others as having beliefs, desires,
thoughts and feelings.
3. Mind-reading looks increasingly like literacy, a skill we know for sure is not in our genes, since scripts have been around for only
5,000-6,000 years.
4. Print-reading, like mind-reading varies across cultures, depends heavily on certain parts of the brain, and is subject to
developmental disorders.

Answer:2341

 Video Solution

Explanation:
Statement 1 displays a contrast of 2 kinds of reading. Logically these reading types must be defined before their negatives are discussed.
This indicates that both statement 2 and 4 necessarily precede statement 1

Statement 4 and 1 form a logical block as statement 4 introduces the idea of developmental disorders while statement 1 cites example
of such disorders.  

Statement 4 cannot be opening as it has a phrase "like mind reading". While, Statement 3 can neither be an opening nor closing
statement. 

Hence, statement 2 is a good introductory statement as it starts by describing mind reading and statement 3 extends the idea of
mindreading. As 3 doesn't fit anywhere else, it has to necessarily follow statement 2

Hence, the correct order is 2341

Question 21

The four sentences (labelled 1, 2, 3, 4) given below, when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences and key in the sequence of the four numbers as your answer.
1. Metaphors may map to similar meanings across languages, but their subtle differences can have a profound effect on our
understanding of the world.
2. Latin scholars point out carpe diem is a horticultural metaphor that, particularly seen in the context of its source, is more accurately
translated as “plucking the day,” evoking the plucking and gathering of ripening fruits or flowers, enjoying a moment that is rooted in
the sensory experience of nature, unrelated to the force implied in seizing.
3. The phrase carpe diem, which is often translated as “seize the day and its accompanying philosophy, has gone on to inspire
countless people in how they live their lives and motivates us to see the world a little differently from the norm
4. It’s an example of one of the more telling ways that we mistranslate metaphors from one language to another, revealing in the
process our hidden assumptions about what we really value.

Answer:3241

 Video Solution

Explanation:
Statement 3 and 2 form a natural block. While statement 3 describes "carpe diem", statement 4 explains how every language has subtle
differences in its essence and interpretation. Statement 4 says "its an example of" suggesting to the logical block 32 which shows
misinterpretation of metaphor. Hence, 324 forms a block. While statement 1 can serve as both opening as concluding closing statement.
Both the sequesnces 3241 and 1324 seem accurate. Although CAT 2019, considered 3241 as the final answer to this parajumble with
statement 1 concluding the paragragh.
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Question 22

The four sentences (labelled 1, 2, 3, 4) given below, when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences and key in the sequence of the four numbers as your answer.
1. We’ll all live under mob rule until then, which doesn’t help anyone.
2. Perhaps we need to learn to condense the feedback we receive online so that 100 replies carry the same weight as just one.
3. As we grow more comfortable with social media conversations being part of the way we interact every day, we are going to have to
learn how to deal with legitimate criticism.
4. A new norm will arise where it is considered unacceptable to reply with the same point that dozens of others have already.

Answer:3241

 Video Solution

Explanation:
Statement 1 suggests that we will live under mob-rule until a specific event occurs. Hence, it cannot be the opening statement.
Statement 2 is a suggestion to deal with criticism. 
Statement 3 is a good opening statement as it sets the agenda for the passage.
Statement 4 says that in the upcoming future, repetitive criticism will not be permitted.

41 makes a logical block as statement 4 talks about a specific event, where mob frenzy attitude is curtailed by eliminating repetitive
criticism. Until this occurs, we will live under mob-rule.

Statement 3 opens the passage that we need to learn to deal with criticism. While statement 2 extends the idea as to how one has to deal
with criticism on a personal level. Then, the author speaks about curtailing mob culture by censoring repetitive criticism.

Hence, the correct logical order is 3241

Question 23

The four sentences (labelled 1, 2, 3, 4) given below, when properly sequenced would yield a coherent paragraph. Decide on the proper
sequence of the order of the sentences and key in the sequence of the four numbers as your answer.
1. If you’ve seen a little line of text on websites that says something like "customers who bought this also enjoyed that” you have
experienced this collaborative filtering firsthand.
2. The problem with these algorithms is that they don’t take into account a host of nuances and circumstances that might interfere with
their accuracy.
3. If you just bought a gardening book for your cousin, you might get a flurry of links to books about gardening, recommended just for
you! - the algorithm has no way of knowing you hate gardening and only bought the book as a gift.
4. Collaborative filtering is a mathematical algorithm by which correlations and cooccurrences of behaviors are tracked and then used
to make recommendations.

Answer:4123

 Video Solution

Explanation:
Statement 1 says "this collaborative filtering". Here "this" refers to a likely preceding statement which explains about collaborative
filtering. While statement 1 is an example of collaborative filtering.
Statement 2 starts with "these algorithms". This doesn't look like an opening statement as it describes a certain algorithm ("these").
Statement 3 is explaining about the flaw in the algorithm
Statement 4 makes for a good opening statement
Statement 41 makes a logical block as the example in 1 refers to collaborative filtering of statement 4
Statement 2 must appear soon after the logical block of 41 as it contains the phrase "these algorithms". While statement 2 explains the
problem in the algorithm, statement 3 extends the idea of the problem.

Statement 4 : Introduces collaborative filtering
Statement 1 : Given an example of collaborative filtering
Statement 2 : Speaks about the drawback in the algorithm
Statement 3 : Gives an example of the drawback

Hence the logically coherent order is 4123

Downloaded from cracku.in

.

https://cracku.in/28-the-four-sentences-labelled-1-2-3-4-given-below-wh-x-cat-2019-slot-1?utm_source=pdf&utm_medium=video&utm_campaign=video_solution
https://cracku.in/31-the-four-sentences-labelled-1-2-3-4-given-below-wh-x-cat-2019-slot-1?utm_source=pdf&utm_medium=video&utm_campaign=video_solution
https://cracku.in


Question 24

Five sentences related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out.
Choose its number as your answer and key it in.
1. His idea to use sign language was not a compl etely new idea as Native Americans used hand gestures to communicate with other
tribes.
2. Ancient Greek philosopher Aristotle, for example, observed that men who are deaf are incapable of speech.
3. People who were born deaf were denied the right to sign a will as they were “presumed to understand nothing; because it is not
possible that they have been able to learn to read or write.”
4. Pushback against this prejudice began in the 16th century when Pedro Ponce de León created a formal sign language for the hearing
impaired.
5. For millennia, people with hearing impairments encountered marginalization because it was believed that language could only be
learned by hearing the spoken word.

Answer:2

 Video Solution

Explanation:
Statement 34 makes a logical block as statement 4 speaks about "this prejudice" against deaf people. While statement 3 highlights the
prejudice by saying that they were considered to be dumb and not allowed to sign a will.

The idea of sign language is continued in statement 1 where the pronoun "he" refers to pedro and the statement discusses about the
origin of the sign language.

Statement 5 is a good opening statement as it introduces the idea of discrimination against deaf and this idea is continued by an
example in statement 3. Hence these statements can be arranged in the order 5341.

Statement 2 is a good standalone opening statement. Yet, this statement cannot be succeeded by any of the other statements as it is a
misfit in the paragraph. 

Hence statement 2 is the odd one out
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